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61.

Which of these reactions is not a part of breakdown of 0zone in stratosphere?
(1) Ci(g)+O4(g) —> CIO(2) + O,(g)

(2) CIO— CIO,(g) + Ci ()

(3) CF,CL(g) —~— CI(g) + CF, Cl(g)

(4) CIO (g) + O(g) —> Ci () + O(g)

=1 3§ B A AAhAT FHATT Heel # SiSi & faues o fawar 48 § ?
(1) Ci(g)+O4(g) — CIO(2) + O,(g)

(2) CIO— CIO,(g) + Ci ()

(3) CF,CL(g) —*— CI(g) + CF, Cl(g)

(4) CIO (g) + O(g) —> Ci () + O(g)

Question ID:7155054291

Ans.

Sol.
62.

2

fact based.

Which of the following can reduce decomposition of H,O, on exposure to light
(1) Glass containers ~ (2) Urea (3)Alkali (4) Dust

Which of the following can reduce decomposition of H,O, on exposure to light

o= 3 9§ BI gebrer @l SuRfa § H,0, & 39ees &l el <l & ?
(1) 3T 7 7= (2) gRan (3) &R (4) &g

Question ID:7155054287

Ans.

Sol.
63.

2
Urea is a negative catalyst.

The correct [IUPAC nomenclature for the following compound is :
0]
AL cH

CH
HC CHy” s

*CH
COOH

(1) 2-Methyl-5-oxohexanoic acid

(2) 5-Methyl-2-oxohexan-6-oic aicd

(3) 5-Formyl-2-methylhexanoic aicd

(4) 2-formyl-5-methylhexan-6-oic acid
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=1 AT @1 |E TUPAC THaRT &
0]
H;C)J\CH{ oo~ CHs
COOH

(1) 2-3Rr-5-3ifaaRad RS

(2) 5-ARI-2-3 M FIRRT-6-31EE RIS
(3) 5-Biffa-2-AfderRR TRS

(4) 2-wiffd-5-HRreRR-6-3Ed TRIS

Question ID:7155054293

Ans.

Sol.
64.

1

Numbring starts from carboxylic acid.

Given below are two statements :

Statement I : In redox titration, the indicatiors used are sensitive to change in pH of the solution.
Statement I1 : In acid-base titration, the indicators used are sensitive to change in oxidation potential.
In the light of the above statements, choose the most appropriate answer from the options given below
(1) Statement I is incorrect but Statement II is correct

(2) Both Statement [ and Statement Il are incorrect

(3) Both Statement I and Statement II are correct

(4) Statement I is correct but Statement Il is incorrect

Given below are two statements :

Fo 1 : REIaRT ST 3 Wi by o1 a1l < e @ pH i gRad & gy Gaeeeel e & |
HUA 1 : 3FA—&TR SIFAT # AT fhy ST aTel ad Sffaxfiaxvr fava & gRad= & ufey ddeweier 81 2 |
(1) B 1 77ed & U] H 1L\ 2 |

(2) DU 1 vd oA 11 F1 Teid & |

(3) B 1 Ud e 11 M1 TTeAd & |

(4) B [ 981 € Uq dA 11 97ed 2 |

Question ID:7155054301

Ans.

Sol.

2

In redox titration, indicators are sensitive to oxidation potential and in acid base titration, indicators are sensitive

to changein pH of solution Both statement are false.
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65.  Foragood quality cement, the ratio of lime to the total of the oxides of Si, Al and Fe should be as close as to
(D1 (2)2 3)3 (4)4
T 3128 FAIfrc] & HHe & folg AT Ud Si, Al 3R Fe & offavgs! &1 el A1 &1 U S+ 81 A1fa¢
(D1 2)2 33 (44

Question ID:7155054289

Ans. 2

Sol.  factbased.
66.  Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Sodium is about 30 times as abundant as potassium in the oceans.
Reason R : Potassium is bigger in size than sodium.
In the light of the above statements, choose the correct answer from the options given below
(1)Aistrue but R is false
(2) Both A and R are true and R is the correct explanation of A
(3) Ais false but R is true
(4) Both A and R are true but R is NOT the correct explanation of A
A 31w U 1Y 2, T Bl 3BT AU AR DI HRUT R FET T 2|
afme A s el 3§ e, WRRRM @) qer §, R 30 AT SR TR R
SRR : AIf$TH & goom § UIeRRM &7 MR 997 2 |
IWad HUHT B YT #, - ey v fawent § 9 FE SR g ¢
(1) ASET & =g R TeTd &
(2) AR R Sl 98 § TATR, A &) W& IR B
(3) ATTId € U] R 98l ©
(4) ATd R SHT &1 € GTR, A &1 98! e F&1 &
Question ID:7155054288
Ans. 2

Sol.  Both statements are correct and sodium satls are more soluble so it is more abundant.
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67. Match List I with List 11

LISTI LISTII
Natural amino acid One letter code
A. Glutamic acid L. Q
B. Glutamine II. W
C. Tyrosine II. E
D. Tryptophan Iv. Y

Choose the correct answer from the options given below :
(1) A-1V, B-IIL, C-1, D-II
(2) A-II1, B-1, C-1V, D-II
(3) A-IIL, B-1V, C-I, D-II
(4) A-I1, B-1, C-1V, D-III

Al [ 1 el g 11 oY
= 1 = 10
grepfae Al end Uh JJER DS
A TCHE e L Q
B. RS (SK B II. %
C. SRR . E
D. fo=em Iv. Y
A faT Y fAmedi § ¥ 98l SR g
(1) A-1V, B-1II, C-L, D-1I
(2) A-11I, B-1, C-1V, D-1I
(3) A-II, B-1V, C-L, D-1I
(4) A-11, B-1, C-1V, D-1II
Question ID:7155054299
Ans. 2
Sol.  factbased.
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68.  InHall - Heroult process, the following is used for reducing AL O, :

(1) Graphite (2) Magnesium (3) CaF, (4) Na,AlF,
gic—exfee U ¥, e # 1 @I ALO, @ 3rae H SudnT fbar Sirem 8 2
(1) Iw1ge (2) A=A (3) CaF, (4) Na AlF,
Question ID:7155054286
Ans. 1

Sol.  Graphite rod is used as for reducing AL O,.

69.  Thecorrect reaction profile diagram for a positive catalyst reaction.
A With N .
Without -, /’ catalyst Without . / With
T catalyst £ T catalyst " % catalyst
Q Q [y
= ke 5
(1= (2)
Reactant Product Reactant  p.oquct Product
> >
Reaction Coordinate Reaction Coordinate
A Without N Without
catalyst With catalyst
T T catalyst
With
56 catalyst g?) ‘\'
5 S Product
(3)H Ol
Reactant Product Reactant Product
N N
Reaction Coordinate Reaction Coordinate

YATHE SIRG FMfHAT B forg Fg) fehar Urwrger 3R9 © -

N With A ,
Without -, /’ catalyst Without o With

T catalyst /% T catalyst o \‘/’ catalyst

2 5

()™ (2) = .
Reactant Product Reactant  p.oquct Product
Reaction Coordinate Reaction Coordinate
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A Without N Without
/’ catalyst With catalyst
T T catalyst
With o
Eﬁ catalyst 0
S 2 Product
(3) = (4=
Reactant Product Reactant Product
Reaction Coordinate Reaction Coordinate
Question ID:7155054284
Ans. 3
Sol.  Catalyst decrease E_and it does not reduce energy of reactant and product.
70.  Major product 'P' formed in the following reactions is :

A/YOH Br, p

0 NaOH Major Product
Br

Br
Br OH .
D Br\/Q:O @) \/\/\[O]/ 3) B \)\/\”/OHG) /k/\H/OH
O O

T arfaforar # Fffa e Sae P e -

NYOH Br, P

0 NaOH Major Product
Br

Br
Br OH r
(1)Br\/©:o @) \/\/\g/ (3)B\)\A”/OH(4)/K/\H/OH
O 0

Question ID: 7155054292

Ans.

Sol.

71.

1

BPe

Q\/Ar?)H_) oo

(0]

The descending order of acidity for the following carboxylic acid is -
A. CH,COOH

B. F,C-COOH

C. CICH,~COOH

D. FCH,~COOH
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E. BrCH,-COOH

Choose the correct answer from the options given below :
()B>D>C>E>A

2)D>B>A>E>C

3)B>C>D>E>A

4HE>D>B>A>C

=1 Pratfdafer smal & foTg srrdT &1 aedl 9 & -
A. CH,COOH

B. F,C-COOH

C. CICH,~COOH

D. FCH,~COOH

E. BrCH,-COOH

Ay g Ty fapedt # W wE SR g -
()B>D>C>E>A

2)D>B>A>E>C

3)B>C>D>E>A

4HE>D>B>A>C

Question ID:7155054295

Ans.

Sol.
72.

1

Acidify of compound o.— I of substitnents.

Arrange the following gases in increasing order of van der Waals constant 'a’
A.Ar

B. CH,

C.HO

D. CH,

Choose the correct option from the following.

(HA,B,Cand D 2)B,C,Dand A 3)C,D,Band A 4)D,C,Band A
IR a1l ReRid 'a' & qed A H Il DT FaRIT PN -

A.Ar

B. CH,
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C.H,0
D. CH,

A fau Y fadedl § | wEl 9T g ¢
(DA, B,Ca@nD  (2)B,C,D@nA  (3)C,D,BaA  (4)D,C,Ba=rA

Question ID:7155054283
Ans. 1

Sol.  aincreases with surface area and attractive forces with more number of atoms.

73.  Henry Moseley studied characteristic X-ray spectra of elements. The graph which represents his observation

correctly is

Given v = frequency of X-ray emitted

Jz
(1)

V2

)

V4

)

v

(4)

V4

BN Il dcdl & ATeTiored X-fohror WaeT & 1eqd= fhar | U1 S S99 UeToT dl Fel—de! fefad axar

ACERE

e T 8 v =cfsid X-fbRor 31 g

Jz
(1)

2)
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v v
3) “4)

zZ z
Question ID:7155054285
Ans. 2

Sol.  Moseleyislaw v/v = a(2—b) straight line eugation.
74. Given below are two statements :
Statement I : Methyl orange is a weak acid.
Statement I1 : The benzenoid form of methyl orange is more intense deeply coloured than the quinonoid form.
In the light of the above statement, choose the most appropriate answer from the options given below :
(1) Both Statement I and Statement II are correct
(2) Statement I is correct but Statement II is incorrect
(3) Statement I is incorrect but Statement I1 is correct
(4) Both Statement I and Statement II are incorrect
A <1 P Ay g B
F 1 : A SN T gda o 7 |
HUA I : A IR BT IoHrgs wY, AaHTs ©U B Jor T # 1w TR [T & 2|
Suad HUAT & ded #, T AU Ty Adweui # 9§ waifd Sugad SR g+ ¢
(1) @ 1o 11 S 8T 2 |
(2) U1 HE © U] B 11 77ed 2 |
(3) B [ 7Tl & U] HU [ W 2 |
(4) DU [ qen Il <H1 Teid & |
Question ID:7155054300
Ans. 4

Sol.  Methyl arange is a wealc acid and quinonoid form is mereitense in colours.
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75.

The statement/s which are true about antagonists from the following is/are :

A. They bind to the receptor site.

B. Get transferred inside the cell for their action.

C. Inhibit the natural communication of the body.

D. Mimic the natural messenger.

Choose the correct answer from the options given below :

(1) B only (2)Aand B 3)A,Cand D (4)Aand C
o=t 7 & P it ARt (antagonists) @ Ha # W&, § -

A. d 3y ITEl aE | 3rdfed g g |

B. 310+ fshaT @& foIY IRt & 37ar WIMIART 8 9 & |

C. IR ¥ UIpfieh A B H ARy I~ B & |

D. Ui Hag@asd &I Adhel DA o |

A g Ty fapedt # W W SR g+ -

(1) ®aa B (2)ATaB B)A,CaarD A AT C

Question ID:7155054298

Ans.

Sol.
76.

4

Antagonist bild to the receptor side and nuinic the natural messenger.

A compound X' when treated with phthalic anhydride in presence of concentrated H,SO, yields'Y".'Y"is
used as an acid/base indicator. X' and 'Y" are respectively

(1) Anisole, methyl orange

(2) Carbolic acid, Phenolphthalein

(3) Toludine, Phenolphthalein

(4) Salicylaldehyde, Phenolphthalein

T Al X' A H,SO, @1 SuReifd # Afeies Teiggiss & el SueriRd b W 'Y' <dl 8 1Y &1 SunT
IFA—&R Fadh & wY H {Ha7 Sirar 21 X a1 "Y' 8, HHe —

(1) ST, Afdrer aie

(2) dreiferd TRFS, WiHicell

(3) eI, wIferveretrT

(4) feriifesergs, wiHTerrded
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Question ID:7155054296
Ans. 2
Sol.  Phenel reacts (carbolic acid) with pthalic anlydrid to form phendlphthallin.
77.  Match List I with List II
LISTI LISTII
Coordination Complex Number of unpaired electrons
A. [Cr(CN),J* L.O
B. [Fe(H,0)]* II. 3
C. [Co(NH,)J* II. 2
D. [Ni(NH,) J** Iv. 4
Choose the correct answer from the options given below :
(1) A-III, B-1V, C-1, D-II
(2) A-1V, B-1I1, C-II, D-1
(3) A-IL, B-1V, C-I, D-1II
(4) A-11, B-1, C-1V, D-1II
AT [ &1 e g 19 o
= 1 = 11
JqgeaAlee  Afre YT solag Al @1 d&aT
A. [Cr(CN), > L.O
B. [Fe(H,0)]* II. 3
C. [Co(NH,),]* II. 2
D. [Ni(NH,) J** Iv. 4
A1 forg Y fepedt ¥ 9 AE TR T
(1) A-III, B-1V, C-1, D-II
(2) A-1V, B-1I1, C-II, D-1
(3) A-IL, B-1V, C-I, D-1II
(4) A-11, B-1, C-1V, D-1II
Question ID:7155054290
Ans. 3
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Sol.

78.

Cri+ 3d3 45° n=3
Fe™ 3d* 45° n=4
Co™ 3d° 45° n=0
Ni2 3d* 45° n=2

The correct order of reactivity of following haloarenes towards nucleophilic substitution with aqueous NaOH

s
Cl
NO|
Cl
10
NO,
Cl
(X
OMe
NO,
Cl

D.
ON NO,

Choose the correct answer from the options given below :
(H)D>C>B>A (2)D>B>A>C 3)A>B>D>C (4)C>A>D>B

o= g1 W & forw Sefid NaOH & rer =1faRe1g! ufaeno= sifafshansii & ufd fharsiierar &1 98 34 @ -
Cl
NO|
cl
B.@:NOZ
cl
< @iOMe
NO,
cl

D.
ON NO,

A fau Y fadeni # 98 SR g ¢
()D>C>B>A (2)D>B>A>C ()A>B>D>C @) C>A>D>B
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Question ID:7155054294
Ans. 2
Sol.  —Rincrease rate and +R decrease rate
D>B>A>C
79.  The product (P) formed from the following multistep reaction is :
(i) Br
NO: i) 1. /Pd P
(iii) NaNO,, HCI, O C Product
H,C (iv) HPO,
Br. OH Br OH
y 1T o Ll 5 o) @ (X
) H,C @ HC Br ©) HC ©® H,C Br
1 qgarell aifafsan # ffa sare (P) 2 -
(i) Br
NO: i) 1. /Pd P
(111) NaN02 HCl OOC Product
HC (iv) HPO,

0 T o, G e, ”
O y LT
®) H.C @ H,C Br

Question ID:7155054297
Ans. 3
NO, NO, NH, N,'CI
Sol. Br, H,/Pd NaNO H PO,
Br HC] Br
CH, CH, CH3
80.  Which of the following have same number of significant figures?

A.0.00253

B. 1.0003

C.15.0

D. 163

Choose the correct answer fromt he options given below

()A,CandDonly (2)BandC only (3) Cand D only (4)A, B and C only
1 3 9 e aeie sidl & wwad §AE © ?
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A.0.00253

B. 1.0003

C.15.0

D. 163

I feu T el # 3 98 SR g -

(1) daaA, CaarD  (2) ®ad BanC (3) ®aa C D (4) daa A, Ban C

Question ID:7155054282

Ans.

Sol.

81.

1

Significant digits.

3

5

3

3.

The solubility product of BaSO, is 1 x 10'* at 298K. The solubility of BaSO, in 0.1 MK_SO, (aq) solution
is x 1072 gL

Given : Molar mass of BaSO, is 233 g mol !

298 K X BaSO, &7 faeraer qorwer 1 x 1008 10.1 MK, SO, (aq) faere@ # BaSO, & fderar _ x
10°gL'2

fér R 8 : BaSO, &7 HleR g 233 gmol ! &

Question ID:7155054306

Ans.

Sol.

82.

233

BaSO, —*—>Ba’* +S0;"
5 540.1
K,SO, — 2K +SO;”
0.2 0.1+5
K,=5(5+0.1)
S=10°M=233x 107 g/L
If'the boiling points of two solvents X and Y (having same molecular weights) are in the ratio 2 : 1 and their

enthalpy of vaporizations are in the ratio 1 : 2, then the boiling point elevation constant of X in m times the

boiling point elevation constant of Y. The value of m is
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HH IR G dTel QI [IeAId X 0d'Y & FiHichi ol 3FUId 2 : 1 8 TT S a1 &l GAfql &b 1gurd

1:20 X & g S99 ReRid Y & qaoidh I~1a9 RIeRi® & m A7 8 | m &I 949 &

Question ID:7155054305
Ans. 8
Sol. M, =M,

T, =2T,,

83.

2(AH,) =(AH,),

K,, 8
—_—=—=m
K 1

by

AH = AU + AH RT
=-1406 —4.58
=—1411 kg / mol

TAS=AH =-1411kJ

For complete combustion of ethene,

C,H,(g) +30,(g) > 2CO(g) + 2H,0(1)

the amount of heat produced as measured in bomb calorimeter is 1406 kJ mol™ at 300K. The minimum value

of TAS needed to reach equilibrium is (—) kJ.

Given:R=8.3JK "' mol"!

e & gl <84 & forg

C,H,(g) +30,(g) = 2CO,(g) + 2H,0(1)

300K & SeRHey H A71dr ) ST 1406 kJ mol ™! € | FRIawer R uga vq TAS &1 <=7a9 A3 8 : (-)
kJ.

far mr g : R=8.3 J K mol”!

Question ID:7155054304

Ans.

Sol.

1411
C,H,(2) + 30,(g) —> 2CO,(g) + 2H,0(!)

AH = — 1406 KI mol . T =300 K

AH =AU + An RT

AH = — 1406 + (=2) x 8.3 x 300 =— 1406 — 4.98
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=—1410.98 KI mol™! ~ — 1411

84.  The number of atomic orbitals from the following having 5 radial nodes is
7s, 7p, 6s, 8p, 8d
=T 7] petrall W | 5 sy At Y@ drel et Bl AT
7s, 7p, 6s, 8p, 8d
Question ID:7155054302
Ans. 3
Sol. RN=n-/(-1
7s 6 6s 5 8d 5
Tp 5 8p 6
85.  Theratio of sigma and © bonds present in pyrophosphoric acid is
TG EHIRG et § IR R vd 7 g &l Ui =
Question ID:7155054309
Ans. 6
) 0)
Sol. b b Noofo 12
OH" | O" | OH No.ofm 2
OH OH
86.  The number of incorrect statements from the following is

A. The electrical work that a reaction can perform at constant pressure and temperature is equal to the
reaction Gibbs energy.
B.E°_,is dependent on the pressure.

dE°cell _ A S°

dT nF
D. A cell is operating reversible if the cell potential is exactly balanced by an opposing source of potential

difference.
1 H 3T BAl & AT ©
A. ReR 319 vd am W B aififsar g1 fhan S e aren fgyga wrd srffshar a1 firest Soif & avrer 27 |
B.E° 314 W iR & 2 |
dE°cell _AS°
dT nF
D. &% Ad IhAoT ©U § &1 o) @7 ¢ Il e fava fAuda 9a & fawra=<k & fdedhel avma” &1
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Question ID:7155054307
Ans. 1

Sol.  E°_, dependsof K_ and does not depend on prossess.
cel eq

87. The observed magnetic moment of the complex [Mn(NCS),J* is 6.06 BM. The numerical value of x is

Heget [Mn(NCS),J* &1 Uferd graasra ameel 6.06 BM 8 | x &1 A &
Question ID:7155054311
Ans. 4

Sol.  no.ofunpaiede =5

Mn* =3d 5
x=4
88. The sum of oxidation state of the metals in Fe(CO),, VO** and WO, is
Fe(CO),, VO** td WO, ¥ srsil o siferfiepxor weemaii &1 A @ -
Question ID:7155054310
Ans. 10

Sol. 0+4+6=10

89. Coagulating value of the electrolytes AIC1, and NaCl for As,S, are 0.09 and 50.04 respectively. The coagulating
power of AICl, is x times the coagulating power of NaCl. The value of x is
As,S, ® whad & fory fgyd sesli AICL, d NaCl &1 wha 1 42T 0.09 Ud 50.04 & | AICL, &1 TehaT &
NaCl & ®ha eFfdl x JoAT & | X BT 719 &

Question ID:7155054308

Ans. 556

Cp of AICL; _ 60.04 _

Sol. CoofNaCl 009 0

90.  The number of species from the following carrying a single lone pair on central atom Xenon is ,
XeF /', XeO,, XeO,F,, XeF,, XeO,F,, XeOF, XeF,
T H 9 S RN &1 AT 579 Beald URAT] S UR dddl eb Yebldhl J7H SR &
XeF/’, XeO,, XeO,F,, XeF, ", XeO,F,, XeOF,, XeF,

Question ID:7155054303

Ans. 4

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 18




MATRIX

Question Paper With Text Solution (Chemistry)
JEE Main April 2023 | 08 April Shift-2

i i
F\ I +/F
XeF; + F/Xe\F XeO3O//)I?e<D
Sol. 4 0]
F
Ox | EQD F
XeOF, SXe=0 | XeF, F=X&
& | F'OF
F
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